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1|78H 41.75k-6.00k )PS0 WE30cm., ffai%30cm

2|7E5A A F7.6k-8.0k R AR b ffa ;% 60cm

3|FEH 1 F26.25k-26.5k R XR I K5 80cm

4| TR % 33.1k-34.0k 2B K i LT

5|FH #8.0k-10.0k 2R R Ui Ffa 5% 60cm

6| REFIAR)II #10.75k-11.0k BiBMEFT - BHERRE wIFEAY

7|54 IR £0.8k-1.2k EE Bfai%

8| HEBEFIARI £2.5k-5.0k 1R RBh K i Bas%

9[H&FIARIII #£4.45k-4.55k PR Bfas%

10[FFE) #1.0k-1.5k R AR B8R

11| ERE) #8.0k-8.1k E AR AT Bfai%
12[#&FAR ) #2.75k-70m~2.75k+30m [12FH K% 74
13[dL i #£16.50k-30m EBEARBEDEHEM hiT EHAY #50cm
14[1LiE #16.75k-34m EREARAEREM wIFEAY
15[4L53 #£18.50k—110m EEAR—SHEKEEM wiFEAY
16[1Li #£18.50k+112m LBARE—SE M wIFEAY
17|3L53 #£19.0k L AR SR 208 RiT EAY
18|4LiE #23.75k+36m EEARAE S HEAEM wIFEAY
19(82)11 #2.50k-165m R=EMABYREE hiT EAY - EEBH
20|4LE %27.75k-100m #E =KERLT
21(4LiE £33.25k+12m TNERFHEYBER i+ EAY
22|t 4 3.0k-4.25k =X MZ30cm., B&i%&30cm
23|FEH A11.25k-11.75k PR W& 1.5m., Ffa:%20cm
24|75 H  F20.5k LR RA R i B8R
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